@ % *{ijf %z Multiplica decimales por potencias de diez

Nombre: Fecha: Puntuacion:
8,008 x 100 = 1,529 x 10000 =
3,094 x 1000000 = 9,257 x 1000000 =
9,312 x 1000000 = 4, 155 x 1000000 =
2,971 x 10000 = 3,71 x 10 =
7,402 x 1000000 = 9, 888 x 1000000 =
5,042 x 1000000 = 7,422 x 10 =
1,275 x 1000000 = 5, 826 x 100000 =
6,432 x 10000 = 6,282 x 10 =
4,35 x 10 = 1,516 x 1000000 =
9,944 x 1000 = 2,744 x 1000 =
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Multiplica decimales por potencias de diez

Nombre:

8,008 x 100 = 800.8

3,094 x 1000000 = 3094000

9,312 x 1000000 = 9312000

2,971 x 10000 = 29710

7,402 x 1000000 = 7402000

5,042 x 1000000 = 5042000

1,275 x 1000000 = 1275000

6,432 x 10000 = 64320

4,35 x10=43.5

9,944 x 1000 = 9944

Fecha: Puntuacion:

1,529 x 10000 = 15290

9,257 x 1000000 = 9257000

4, 155 x 1000000 = 4155000

3,71 x10=37.1

9, 888 x 1000000 = 9888000

7,422 x 10 =74.22

5, 826 x 100000 = 582600

6,282 x 10 = 62.82

1,516 x 1000000 = 1516000

2,744 x 1000 = 2744
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